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QUESTION 1
This question requires that you evaluate the underlined text to determine if it is correct.
To improve performance, a SQL SELECT statement should use indexes.

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed\\'\\' if
the underlined text makes the statement correct.

A. No change is needed
B. joins

C. grouping

D. ordering

Correct Answer: A

QUESTION 2

You have a server that limits the number of data connections. What should you use to optimize connectivity when the
number of users exceeds the number of available connections?

A. Connection timeouts
B. Named pipes

C. Normalization

D. Connection pooling
Correct Answer: D

In software engineering, a connection pool is a cache of database connections maintained so that the connections can
be reused when future requests to the database are required.

QUESTION 3

You create an application that uses Simple Object Access Protocol (SOAP).

Which technology provides information about the application\\'s functionality to other applications?
A. Web Service Description Language (WSDL)

B. Extensible Application Markup Language (XAML)

C. Common Intermediate Language (CIL)

D. Universal Description, Discovery, and Integration (UDDI)
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Correct Answer: A
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WSDL is often used in combination with SOAP and an XML Schema to provide Web services over the Internet. A client
program connecting to a Web service can read the WSDL file to determine what operations are available on the server.
Any special datatypes used are embedded in the WSDL file in the form of XML Schema. The client can then use SOAP
to actually call one of the operations listed in the WSDL file using for example XML over HTTP.

QUESTION 4

You execute the following code.

Dim beakerfFull A3 Boolean =
Dim flameOCn As Boolean = Fal
Dim iResult A= Integer = (
If beakerFull = True Then
If filameOn = True Then
iResult = 1
Else
iResulic = 2
End If
Elze
iBesult = 3
End If

What will the variable result be?
A.0
B.1
C.2
D.3

Correct Answer: C

QUESTION 5

Irae

2

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is

worth one point.

Hot Area:
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Drescnptun of Behavio Yes (¢ [¥]

The "isa” relationship between classes

refers 1o composition. © O
The “has a” relabonship between classes
refers 1o inheritance. O ©
Both com position and imheritance allow you o o
to create sub-objects.

Hot Area:

Answer Area

Drescriptivn ol Behavio Yes Mo

The “isa” relationship between classes - o o
refers o composition. L=
The “has a" relationship between classes =
refers to inheritance. o O
Both composition and inheritance allow you o o

to create sub-objects.

Correct Answer:
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refers o composition. -

The “has a" relabhonship between classes -
refers to inheritance. (@) kel

Both composition and inheritance allow you | o ol
to create sub-objects. ' |
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